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narjmWu H$moS >H$mo CÎma-nwpñVH$m Ho$ _wI-n¥ð 
>na Adí` {bIo§ & 
Candidates must write the Code on the 

title page of the answer-book. 

  H$moS> Z§.      

 Code No. 

amob Z§. 
Roll No. 

 

 
 

 ZmoQ>  NOTE 

(I) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV 
n¥ð> 15 h¢ & 

(I) Please check that this question 

paper contains 15 printed pages. 

(II) àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS 
>Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

(II) Code number given on the right 

hand side of the question paper 

should be written on the title page of 

the answer-book by the candidate. 

(III) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _|  
>18 àíZ h¢ & 

(III) Please check that this question 

paper contains 18 questions. 

(IV) H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go 
nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ 
Adí` {bI| & 

(IV) Please write down the Serial 

Number of the question in the 

answer-book before attempting it. 

(V) Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m 
g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU 
nydm©• _| 10.15 ~Oo {H$`m OmEJm &   
10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db 
àíZ-nÌ H$mo n‹T>|Jo Am¡a Bg Ad{Y Ho$ Xm¡amZ 
do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

(V) 15 minute time has been allotted to 

read this question paper. The 

question paper  will  be  distributed 

at 10.15 a.m. From 10.15 a.m. to 

10.30 a.m., the students will read the 

question paper only and will not 

write any answer on the  

answer-book during this period. 

 g§ñH¥$V_² (Ho$pÝÐH$_²) 

SANSKRIT (Core)  

g_`mo… : hmoamÌ`_²    nyUm©‘>m… : 80 
{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 80 
Time allowed : 3 hours Maximum Marks : 80 
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{ZX}em… : 

{ZX}e :   
Instructions :    

g‘>oVm^mdo gd}fm§ àíZmZm_wÎmam{U, g§ñH¥$VoZ¡d boIZr`m{Z & 

Ohm± ñnï> g§Ho$V Zht h¢, dhm± CÎma g§ñH¥$V _| hr Xr{OE & 

Answer the questions in Sanskrit only unless stated otherwise. 

Apñ_Z² àíZnÌo MËdma… IÊS>m… gpÝV & 

Bg àíZ-nÌ _| Mma IÊS> h¢ & 

There are four sections in this question paper. 

 

IÊS>… H$ An{R>Vm§e  Ad~moYZ_² (An{R>Vm§e  Ad~moYZ)   10 A‘>m… 

SECTION A (Unseen Reading Comprehension) 

IÊS>… I g§ñH¥$VoZ aMZmË_H$H$m`©_² (g§ñH¥$V aMZmË_H$ H$m`©)  15 A‘>m… 

SECTION B (Sanskrit Writing Skills) 

IÊS>… J AZwà`wŠVì`mH$aU_² (AZwà`wŠV$ ì`mH$aU) 20 A‘>m…   

SECTION C (Applied Grammar) 

IÊS>… K ^mJ I – n{R>Vm§e  Ad~moYZ_² (n{R>Vm§e  Ad~moYZ) 25 A‘>m… 

SECTION D PART I – Reading Comprehension 

  ^mJ II –  gm_mÝ`… g§ñH¥$Vgm{hË`n[aM`… 

         (gm_mÝ` g§ñH¥$V gm{hË` n[aM`) 10 A‘>m…   

  PART  II – General Introduction to Sanskrit Literature 
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IÊS…> H$ (SECTION A) 
An{R>Vm§e  Ad~moYZ_²  
An{R>Vm§e  Ad~moYZ 

 Unseen Reading Comprehension             10 A‘>m… 
1. AYmo{b{IV§ JÚm§e§ n{R>Ëdm àXÎm-àíZmZm_² CÎmam{U g§ñH¥$VoZ {bIV & 
 {ZåZ{b{IV JÚm§e H$mo n‹T>H$a {XE JE àíZm| Ho$ CÎma g§ñH¥$V _| Xr{OE & 

 Read the following passage and answer the given questions in Sanskrit. 

 JÚm§e…   
 Apñ_Z² g§gmao _mVm _mV¥^y{_… M gdm}Îm_o & _mVw… `mÑe§ Z¡g{J©H§$ ào_ ñdnwÌo ^d{V Z 
VmÑe§ Šdm{n AÝ`Ì & ñdnwÌñ` H¥$Vo _mVm gd©ñd_² A{n Ë`ºw§$ eŠZmo{V & Ed_od _mZd… `Ì 
OÝ_ b^Vo gm Vñ` OÝ_^y{_… & ñdOÝ_ ŷ{_… gd©Xm Am{Ð`Vo & `V… VÌ¡d ~mbñ` gd©{dY… 
{dH$mg… àma^Vo & Xoeñ` CÞË`¡ Xoe^{º$-^mdZm`m… _hVr Amdí`H$Vm ^d{V & _mVw… AL²>Ho$ 
`Xm ~mbH$… _yÌnwarfmoËgJª H$amo{V, VXm{n _mVm Hw${nVm Z ^d{V & OÝ_^y_o… A{n _hÎd§ 
VW¡dmpñV & `ñ`m§ ^y_m¡ Yy{bYyg[aVm“… _mZd… e¡edo H«$sS>{V `ñ`míM AÞObmä`m§ gånwï>… 
dY©Vo, Vm§ à{V Vñ` öX`o ñdm^m{dH$s ào_^mdZm ^d{V & `ñ` öX`o ñd_mV¥^y_o… ào_ ZmpñV, 
Vñ` OrdZ§ {ZaW©H$_² & Cº§$ M – ‘OZZr OÝ_^y{_íM ñdJm©X{n Jar`gr’ & 
àíZm… 
(A) EH$nXoZ CÎmaV & (Ho$db§ àíZMVwîQ>`_²) 
 EH$ eãX _| CÎma Xr{OE & (Ho$db Mma àíZ) 
 Answer in one word. (Only four questions)  

2

1
4=2 

(i) ñdnwÌo H$ñ`m… Z¡g{J©H$§ ào_ ^d{V ? 
(ii) ñdnwÌñ` H¥$Vo _mVm qH$ Ë`ºw§$ eŠZmo{V ? 
(iii) H$m gd©Xm Am{Ð`Vo ? 
(iv) ^y_m¡ Yy{bYyg[aVm“… _mZd… H$Xm H«$sS>{V ? 

(v) _mV¥g_§ H$ñ`m… _hÎd_² ApñV ? 
(~) nyU©dmŠ` oZ CÎmaV & (Ho$db§ àíZÛ`_²) 
 nyU© dmŠ` _| CÎma Xr{OE & (Ho$db Xmo àíZ) 
 Answer in a complete sentence. (Only two questions) 22=4 

(i) Apñ_Z² g§gmao Ho$ gdm}Îm_o ? 
(ii) Xoeñ` CÞË`¡ H$ñ`m… _hVr Amdí`H$Vm ^d{V ? 

(iii) H$ñ` OrdZ§ {ZaW©H$_² ApñV ? 

(g) Añ` AZwÀN>oXñ` H¥$Vo g_w{MV§ erf©H§$ g§ñH¥$VoZ {bIV & 
 Bg AZwÀN>oX Ho$ {bE Cn ẁŠV erf©H$ g§ñH¥$V _| {b{IE & 
 Write a suitable title for this passage in Sanskrit. 11=1 

(X) `Wm{ZX}e_² CÎmaV & (EH$nXmË_H§$ CÎma_²) (Ho$db§  àíZÌ`_²) 
 {ZX}emZwgma CÎma Xr{OE & (EH$ eãX _|) (Ho$db VrZ àíZ)  
 Answer as directed. (Only one word) (Only three questions)  13=3 

(i) ‘Vm_² à{V Vñ` öX`o ñdm^m{dH$s ào_^mdZm ^d{V’ AÌ ‘Vñ`’ B{V 
gd©Zm_nX§ H$ñ_¡ à`wŠV‘² ?  
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(ii) ‘_mZd… `Ì OÝ_ b^Vo’ – BË`pñ_Z² dmŠ`o ‘b^Vo’ {H«$`mnXñ` qH$ H$V©¥nX§ 
à¶wŠV‘² ? 

(iii) ‘Yy{bYyg[aVm“… _mZd…’ BË`Z`mo… nX`mo… qH$ {deofUnX‘² ? 

(iv) ‘AdZË`¡’ B{V nXñ` {dbmo_nX§ JÚm§emV² {MËdm {bIV & 

IÊS…> I (SECTION B)  
g§ñH¥$VoZ aMZmË_H$H$m`©_² 
g§ñH¥$V aMZmË_H$ H$m`© 

 Sanskrit Writing Skills 15 A‘>m… 

2. ^dV… Zm‘ _wHw$ÝX… ApñV & {dÚmb`ñ` dm{f©H$moËgd_² A{YH¥$Ë` _w»`m{V{WnX§ ñdrH¥$VmWª 
{ejm {ZXoeH$ _hmoX §̀ à{V {b{IVo nÌo ‘ÄOyfm`m§ àXÎm¡… C{MVeãX¡… [aŠVñWmZm{Z nya`V &  

  AmnH$m Zm_ _wHw$ÝX h¡ & {dÚmb` Ho$ dm{f©H$moËgd H$mo boH$a ‘_w»`m{V{W’ Ho$ ê$n _| ñdrH¥${V 
Ho$ {bE {ejm {ZXoeH$ _hmoX` H$mo {bIo nÌ _| [aº$ ñWmZm| H$s ny{V© _§Oyfm _| {XE JE C{MV 
eãXm| go H$s{OE & 

 You are Mukund. In order to accept the post of Chief Guest for the 

school’s annual festival, fill in the blanks in the letter written to the 

school inspector. Select appropriate words from the given box.     
2

1
 10=5 

 godm`m_² 
 (i) ________ & 
 {ejm {ZXoemb`… 
 {XëbrZJa_² & 
 {df` … {dÚmb`ñ` dm{f©H$moËgdo _w»`m{V{W… ^{dVw_² & 
 g{dZ`§ (ii) __________ `X² (iii) __________ {dÚmb`ñ` (iv) __________ 

\$adar _mgñ` nÄM_o {XZm‘>o (v) _________ ^{dî`{V & EVpñ_Z² Adgao {d{dYm… 
(vi) ____________ A{n Am`mo{OVm… ^{dî`pÝV & Vñ`moËgdñ` _w»`m{V{WnX_²  
(vii) __________ ^dmZ² {dÚmb`n[admaoU ŷ`mo^y`: (viii) _________ & AmempñV 
^dmZ² Añ_ËàmW©Zm§ (ix) ________ Añ_mZ² AZwJ«hrî`{V & 

  YÝ`dmX… & 
 {XZm‘>… _________                                              ^dVm§ {dZrVMa: 
                                                 (x) ________ 

               H$jm ÛmXe ‘A’ 
     AmXe© bmoH$_mÝ` {VbH$ d[að>  
      _m. {dÚmb`:, {dH$mgZJa_², 
                {Xëbr & 
                                              _ÄOyfm 

 

_wHw$ÝX…, dm{f©H$moËgd…, {ZdoÚVo, ñdrH¥$Ë`, Cn{ejm{ZXoeH$_hmoX`, à{V`mo{JVm…, 
gånÞ…, Ab‘>Vw©_², Añ_mH$_², àmÏ`©Vo & 
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3. _ÄOyfm`m§ àXÎmeãXmZm§ ghm`V`m AYmo{b{IVm`m§ bKwH$Wm`m§ [aŠVñWmZm{Z nya{`Ëdm H$Wm§ 
nwZ… {bIV & 

 _ÄOyfm _| {XE JE eãXm| H$s ghm`Vm go {ZåZ{b{IV bKwH$Wm _| [aº$ ñWmZm| H$s ny{V© H$a 
H$Wm H$mo nwZ… {b{IE & 

 Fill in the blanks in the following short story with the help of the words 

given in the box below and rewrite the same. 
2

1
 10=5 

 EH$Xm Ho$MZ {eî`m… (i) ________ Hw$d©pÝV ñ_ & VX¡d EH$… (ii) ________ _hVm doJoZ 
AmJÀN>V² & JOñ` Cn[a Cn{dï>… hpñVnH$… (iii) ________ nwZ… nwZ… Kmof`{V ñ_ – 

‘AngaÝVw AngaÝVw’ & gd} {eî`m: (iv) ________ & na_² EH$: {eî`: VÌ¡d pñWVdmZ² & 

JO… V§  (v) _______ J¥hrËdm Xÿao {jßVdmZ² & (vi) _______ V§ Jwé… An¥ÀN>V²  dËg ! Ëd_² 
Ed§ {H$_W©_² AmMa… B{V ? {eî`… AdXV²  Jwê$d`© ! ^d{X²^… Ed {e{jV§ `V²  

(vii) _______ gd}fw ApñV, AV… Ah§ JOo A{n B©ída§ _Ëdm VÌ A{Vð>_² B{V & Jwé… 

(viii) ________ ‘‘dËg ! `WmJOo B©ída… ApñV VWm (ix) ________ A{n B©ída…’’ B{V 
Ëd`m H$W§ Z (x) ________ & 

_ÄOyfm 

 

4. ‘`moJñ` _hÎd_²’ B{V {df¶‘{YH¥$Ë¶ nÄMdm³¶{‘V‘² g§ñH¥$VoZ AZwÀN>oX§ {bIV & 
 (‘ÄOyfmàXÎmnXmZm§ ghm¶Vm Ano{jVm MoV² J«hrVì¶m AÝ¶Wm ñd¶§ {MÝV{¶Ëdm ñdV§Ìê$noU 

bo{IVì`_² ) 
 ‘`moJñ` _hÎd_²’ Bg {df¶ na nm±M g§ñH¥$V dm³¶m| ‘| EH$ AZwÀN>oX {b{IE & 
 (¶{X ‘ÄOyfm ‘| {XE JE eãXm| H$s ghm¶Vm Ano{jV hmo Vmo Cggo, AÝ¶Wm ñdV§Ì ê$n go 

ñd¶§ {MÝVZ H$aHo$ {b{IE ) 
 Write a paragraph in five Sanskrit sentences on ‘`moJñ` _hÎd_²’.  
 (If required, take help of the words given in the box below, else write by 

thinking yourself) 15=5 

_ÄOyfm 

 
AWdm (OR) 

empÝV…, Xohñ`, AZw^yV`o, d`_², àmßZw_…, _Zwî`…, AmpË_H§$, Hw$d©pÝV, g_Ëd§, 
àUm`m_mX`…, eŠ`ÝVo, OZm…, H$m¡eb_², {MÎmd¥{Îm…, ZramoJ…, ñdmñÏ`_², 
{MÎmd¥{Îm{ZamoY…, H$_©gw & 

AdXV², hpñVnHo$, bãYg§k§, {^jmQ>Z§, JO…, CƒñdaoU, Ym{dVdÝV…, B©ída…, 
ñdewÊS>çm, {MpÝVV_² & 
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 AYmo{b{IVdmŠ`ofw Ho$fmÄMZ nÄMdm³¶mZm§ g§ñH¥$VoZ AZwdmX§ Hw$éV & 

 {ZåZ{b{IV dm³¶m| ‘| go {H$Ýht nm±M dm³¶m| H$m g§ñH¥$V ‘| AZwdmX H$s{OE & 
 Translate any five of the following sentences into Sanskrit. 15=5  

(i) _mohZ gX¡d gË` ~mobVm h¡ & 
(ii) Š`m _¢ {dÚmb` OmD±$ ? 
(iii) OrdZ H$m AmYma {ejm hr hmoVr h¡ & 
(iv) _pÝXa Ho$ Mmam| Amoa d¥j h¢ & 
(v) _¢ erVb Ob nrZm MmhVm h±ÿ & 
(vi) am_ XeaW Ho$ nwÌ Wo & 
(vii) nwÌ H$mo _mVm-{nVm H$s godm H$aZr Mm{hE & 
(i) Mohan always speaks the truth. 

(ii) Should I go to school ? 

(iii) Education is the basis of life. 

(iv) There are trees all around the temple. 

(v) I want to drink cold water. 

(vi) Ram was the son of Dashratha. 

(vii) The son should serve both the mother and the father. 

IÊS…> J (SECTION C) 
AZwà`wŠVì`mH$aU_² 
AZwà`wŠV ì`mH$aU 

 Applied Grammar 20 A‘>m… 

5. AYmo{b{IVdmŠ`ofw aoIm{‘>VnXmZm§ gpÝY¨ gpÝYÀN>oX§ dm Hw$éV & (Ho$db§ àíZfQ>²H$_²) 
 {ZåZ{b{IV dmŠ`m| _| aoIm§{H$V nXm| H$s gpÝY Am¡a gpÝY-{dÀN>oX H$s{OE & (Ho$db N>h àíZ) 

 Join and disjoin Sandhis in the underlined words of the following 

sentences. (Only six questions) 16=6  

(i) gË`mÞ à_{XVì`_² & 

(ii) _wHw$Q>mÔrnH$_m©U§ _{U_² + AmXm` ^mñda_² & 

(iii) B©ídamo@h_² Ah§ ^moJr & 

(iv) B{V + CŠËdm _hm~mhþ… ^yfUm{Z XXm¡ & 

(v) gÝ`m{gZ² ~hÿº$_² & 

(vi) _`m ^moOamOmo a{jV EdmpñV & 

(vii) Aï>mXe¡d lwË`W©ñ_aUmËñ_¥V`… & 
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6. AYmo{b{IVdmŠ`ofw aoIm{‘>V-nXmZm§ g‘mg§ {dJ«h§ dm Hw$éV & (Ho$db§ àíZnÄMH$‘²) 
 {ZåZ{b{IV dmŠ`m| _| aoIm§{H$V nXm| Ho$ g‘mg Am¡a {dJ«h H$s{OE & (Ho$db nm±M àíZ) 

 Compound and expound the underlined words of the following sentences.  

                                                                                     (Only five questions) 15=5  

(i) EVV² AZwemgZ_² & 

(ii) Y_©ñ` Z H$mb… ZmpñV & 

(iii) g Ed ~mb^md… nm{W©dñ` Ed & 

(iv) Xrnñ` àH$meo H$_ß`ZdbmoH$`Z² AdmXrV²² & 

(v) Vñ`mV©ñ` `Wm¡fY_² & 

(vi) emoHo$Z g§VßV… _wÄO… àm`píMÎmm` VËnamo OmV… & 

(vii) `Ì gwewH$m… {dbgpÝV & 

(viii) AmH$maoU gÑem àkm `ñ` g… {Xbrn… AmgrV² & 

7. AYmo{b{IVdm³¶ofw aoIm{‘>VnXmZm§ àH¥${VàË¶¶m¡ ¶moO¶V n¥WH²$ dm Hw$éV & 
                                                                 (Ho$db§ àíZfQ>H$‘²) 

 {ZåZ{b{IV dm³¶m| ‘| aoIm§{H$V nXm| ‘| àH¥${V Ho$ gmW {Z{X©îQ> àË¶¶ H$mo Omo{‹S>E Am¡a n¥WH²$ 

H$s{OE & (Ho$db N>h àíZ) 

 Add or separate suffixes from the underlined words of the following 

sentences. (Only six questions) 16=6  

(i) ZrboZ nj{Zdhmo I_² AmhgÝV… & 

(ii) VoZ {h CXH}$U JwUoZmÌ ^{dVì`_² & 

(iii) amUmàVmn~bdr`©-{d^mg_mZm ñdmYrZ + Vb² & 

(iv) VX² Anoj`m ê$ndVm_² {h {dÚm & 

(v) ^moO… A{n {Ma§ àOm… nmb² + ŠVdVw & 

(vi) ñdmYrZVm Am`©^w{d _y{V©_V² + L>rn² g_mZm & 

(vii) Ëd§ gkmZ{dkmZ`mo… à`moJ H$Vwª eú`{g & 
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8. H$moîR>H$àXÎmnX¡… gh g‘w{MVm§ {d^{ŠV§$ à¶wÁ¶ [aŠVñWmZny{Vª Hw$éV & (Ho$db§ àíZÌ¶‘²) 
 H$moîR>H$ ‘| {XE JE eãXm| go Cn¶wº$ {d^{º$ H$m à¶moJ H$a [aº$ ñWmZm| H$s ny{V© H$s{OE &  
                                                                     (Ho$db VrZ àíZ) 

 Fill in the blanks using appropriate case-endings with the words given in 

the brackets. (Only three questions) 1 3=3  

(i) H$íMZ H$mnm{bH$… _________ g_mJV… & (g^m) 

(ii) AYwZm _________ n[aîH¥$VnmaX^ñ_ XXm{_ & (`wî_X²) 

(iii) d¡dñdV… _Zw… _________ _mZZr`… AmgrV² & (_Zr{fU²) 

(iv) {Xbrn… _________ gÑemJ_… & (àkm) 

(v) ^dÝV… _________ A{YH¥$Ë` H$W`ÝVw & (Zmar_`m©Xm) 

IÊS…> K (SECTION D) 
^mJ I 

(PART I) 
n{R>Vm§e  Ad~moYZ_² 
n{R>Vm§e  Ad~moYZ 

 Reading Comprehension 25 A‘>m… 

9. AYmo{b{IV§ JÚm§e§ n{R>Ëdm VXmYm[aVmZ² àíZmZ² g§ñH¥$VoZ CÎmaV & 
 {ZåZ{b{IV JÚm§e H$mo n‹T>H$a CZ na AmYm[aV àíZm| Ho$ CÎma g§ñH¥$V _| Xr{OE & 

 Read the following prose passage and answer the questions based on it in 

Sanskrit. 5 

 JÚm§e… 
 gË`§ dX & Y_ª Ma & ñdmÜ`m`mÝ_m à_X… & AmMm`m©` {à`YZ_möË` àOmVÝVw§ _m 

ì`dÀN>oËgr… & gË`mÞ à_{XVì`_² & Y_m©Þ à_{XVì`_² & Hw$ebmÞ à_{XVì`_² & ^yË`¡ Z 
à_{XVì`_² & ñdmÜ`m`-àdMZmä`m§ Z à_{XVì`_²² & Xod{nV¥H$m`m©ä`m§ Z à_{XVì`_² & 
_mV¥Xodmo ^d & {nV¥Xodmo ^d & AmMm`©Xodmo ^d & A{V{WXodmo ^d & `mÝ`ZdÚm{Z H$_m©{U, 
Vm{Z go{dVì`m{Z, Zmo BVam{U & 

 àíZm… 
(A) EH$nXoZ CÎmaV & (Ho$db§ àíZÛ¶‘²) 

  EH$ eãX _| CÎma Xr{OE & (Ho$db Xmo àíZ) 
  Answer in one word. (Only two questions) 

2

1
 2=1 

(i) Ëd_² qH$ dX ? 
(ii) Ëd_² H$ñ_mV² _m à_X… ? 
(iii) Ëd`m AZdÚm{Z H$m{Z go{dVì`m{Z ? 
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(~) nyU©dmŠ`oZ CÎmaV & (Ho$db§ àíZ_oH$_²) 

  nyU© dmŠ` _| CÎma Xr{OE & (Ho$db EH$ àíZ) 

  Answer in a complete sentence. (Only one question) 21=2 

(i) Ëd_² ({eî`…) qH$ H¥$Ëdm àOmVÝVw§ _m ì`dÀN>oËgr… ? 

(ii) Ëd`m {ejUo H$mä`m§ Z à_{XVì`_² ? 

(g) `Wm{ZX}e_² CÎmaV & (Ho$db§ àíZMVwîQ>`_²) 

  {ZX}emZwgma CÎma Xr{OE & (Ho$db Mma àíZ) 

  Answer as directed. (Only four questions) 
2

1
4=2 

(i) ‘Jwado’ nXñ` g_mZmW©H$nX§ JÚm§emV² {MËdm {bIV & 
(ii) ‘gË`§ dX’  AÌ {H«$`mnX§ {H$_² ? 

(iii) ‘A{à`§’ B{V nXñ` {dbmo_nX§ qH$ à`wº$_² ? 

(iv) ‘Eoíd`m©`’ BË`W} qH$ nX_Ì à`wº$_² ? 
(v) ‘{à`§ YZ_²’ AZ`mo… nX`mo… {deofUnX§ {H$_² ? 

10. AYmo{b{IV§ nÚm§e§ n{R>Ëdm VXmYm[aVmZ² àíZmZ² g§ñH¥$VoZ CÎmaV & 
 {ZåZ{b{IV nÚm§e H$mo n‹T>H$a Cg na AmYm[aV àíZm| Ho$ CÎma g§ñH¥$V _| Xr{OE & 

 Read the following verse and answer the questions based on it in 

Sanskrit. 5 

 nÚ_²… 

ñdm`Îm_oH$mÝVJwU§ {dYmÌm 

{d{Z{_©V§ N>mXZ_kVm`m… & 

{deofV… gd©{dXm§ g_mOo 
{d^yfU§ _m¡Z_npÊS>VmZm_² &&  

àíZm… 
(A) EH$nXoZ CÎmaV & (Ho$db§ àíZÛ¶‘²) 

  EH$ eãX _| CÎma Xr{OE & (Ho$db Xmo àíZ) 
  Answer in one word. (Only two questions) 

2

1
2=1 

(i) Ho$Z EH$mÝVJwU§ ñdm`Îm_² ? 
(ii) AnpÊS>VmZm§ H¥$Vo _m¡Z§ {H$_² ? 
(iii) AkVm`m… AmdaU§ {H$_² ? 
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(~) nyU©dmŠ`oZ CÎmaV & (Ho$db§ àíZ_oH$_²) 
  nyU© dmŠ` _| CÎma Xr{OE & (Ho$db EH$ àíZ) 
  Answer in a complete sentence. (Only one question) 21=2 

(i) Ho$fm§ g_mOo _m¡Z§ emo^mH$a_² ApñV ? 
(ii) {dYmÌm qH$ {d{Z{_©V_² ? 

(g) `Wm{ZX}e_² CÎmaV & (EH$nXoZ) (Ho$db§ àíZMVwîQ>`_²) 

  {ZX}emZwgma CÎma Xr{OE & (EH$ eãX _|) (Ho$db Mma àíZ) 
  Answer as directed. (Only one word) (Only four questions) 

2

1
4=2 

(i) ‘npÊS>VmZm_²’ BË`ñ` {dbmo_nX§ íbmoH$mV² {MËdm {bIV &  

(ii) ‘AmdaU_²’ BË`ñ` g_mZmW©H$nX§ íbmoH$mV² {MËdm {bIV & 

(iii) ‘{d^yfU§ _m¡Z_²’ AÌ qH$ {deofUnX_² ? 

(iv) ‘{d{Z{_©V§’ B{V {H«$`mnXñ` H$V©¥nX§ qH$ à`wº$_² ? 

(v) ‘{da{MV_²’ BË`ñ` n`m©`nX§ qH$ à`wº$_² ? 

11. AYmo{b{IV§ ZmQ>çm§e§ n{R>Ëdm VXmYm[aVmZ² àíZmZ² g§ñH¥$VoZ CÎmaV & 

 {ZåZ{b{IV ZmQ>çm§e H$mo n‹T>H$a Cg na AmYm[aV àíZm| Ho$ CÎma g§ñH¥$V _| Xr{OE & 
 Read the following drama passage and answer the questions based on it 

in Sanskrit. 5 

ZmQ>çm§e… 

G$VÜdO… – Ahmo emo^Z§ JÝYd©amO{dídmdgmo… amOmoÚmZ_² & Am_«_ÄOarUm§ nam§ emo^m§ 
ÑîQ²>dm H$mo{H$bmZm§ M _YwadMm§{g lwËdm H$ñ` `yZmo öX §̀ ghgm CËH$pÊR>V§ Z  

^{dî`{V ? 
  dm_nmíd} a_UrZm_mbmn Bd ly`Vo & AÌ¡d pñWËdm lmoî`m{_ & 

Hw$ÊS>bm – g{I _Xmbgo ! Ëd§ Vw Ho$db§ {dÚmÜ``Zo Ed aVm {H$`ÝV§ H$mb§ `mdV² 
~«÷M`©d«V§ Yma{`î`{g & 

_Xmbgm – kmZmoX{YñVw AZÝVnmamo J^raíM & _`m gmJaVQ>o pñWËdm H${Vn`{~ÝXd Ed 
àmám AÚmd{Y & 

Hw$ÊS>bm – {dZ`erbo ! {dÚm XXm{V {dZ`_² AVEd Ed§ ^U{g &  
Hw$bJwé-Vwå~é_hm^mJ¡ñVw JÝYd©amOm` AÝ`Xod gy{MV_² & 
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àíZm… 

(A) EH$nXoZ CÎmaV & (Ho$db§ àíZÛ`_²) 

  EH$ eãX _| CÎma Xr{OE & (Ho$db Xmo àíZ) 

  Answer in one word. (Only two questions) 
2

1
2=1 

(i) amOmoÚmZ_² H$ñ`mpñV ? 

(ii) H$m {dÚmÜ``Zo aVm ? 

(iii) {dÚm qH$ XXm{V ? 

(~) nyU©dmŠ`oZ CÎmaV & (Ho$db§ àíZ_oH$_²) 

  nyU© dmŠ` _| CÎma Xr{OE & (Ho$db EH$ àíZ) 

  Answer in complete sentence. (Only one question) 21=2 

(i) qH$ ÑîQ²>dm `yZmo öX`_² ghgm CËH$pÊR>V§ ^{dî`{V ? 
(ii) Hw$ÊS>bm _Xmbgm_² {H$_² An¥ÀN>V² ? 

(g) `Wm{ZX}e_² CÎmaV & (EH$nXoZ) (Ho$db§ àíZMVwîQ>`_²) 

  {ZX}emZwgma CÎma Xr{OE & (EH$ eãX _|) (Ho$db Mma àíZ) 

  Answer as directed. (Only one word) (Only four questions) 
2

1
4=2 

(i) ‘amOmoÚmZ_²’ BË`ñ` qH$ {deofUnX_² à`wº$_² ? 

(ii) ‘lmoî`m{_’ B{V {H«$`mnXñ` H$V©¥nX§ {H$_² ? 

(iii) ‘Ëd§ Vw Ho$db§ {dÚmÜ``Zo ... &’ BË`Ì ‘Ëd_²’ B{V gd©Zm_nX§ H$ñ`¡ à`wº$_² ? 

(iv) ‘ñÌrUm_²’ BË`ñ` g_mZmW©H$nX§ ZmQ>çm§emV² {MËdm {bIV & 

(v) ‘d¥Õñ`’ B{V nXñ` qH$ {dbmo_nX§ ZmQ>çm§eo à`wº$_² ? 

12. AYmo{b{IVñ` nÚñ` ^mdmWª _ÄOyfmàXÎmnX¡: nya{`Ëdm nwZ: {bIV & 

 {ZåZ{b{IV nÚ Ho$ {XE JE ^mdmW© H$mo _ÄOyfm _| {XE JE nXm| go nyU© H$a nwZ: {b{IE & 

 Complete the central idea of the given verse with the words given in the 

box below and rewrite the same. 
2

1
 6=3 

íbmoH$… 

Ë`mJm` g§^¥VmWm©Zm§ gË`m` {_V^m{fUm_² & 

`ego {d{OJrfyUm§ àOm`¡ J¥h_o{YZm_² && 
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^mdmW©… 

 amk… {Xbrnñ` AWm©Zm_² gÄM`Z§ (i) ____________ Ed ^d{V & aKwd§{eZm§ H¥$Vo  

(ii) ___________ `WmW©H$WZm` ^d{V & {dO`oÀNw>H$mZm§ aKwd§{eZm§ H¥$Vo `wÕ§ Ho$db§ 

(iii) ____________ ^d{V Z Vw AÝ`§ nam^dm` & Vofm§ amkm§ (iv) ____________ 

Ho$db§ (v) ____________ Ed ^d{V Z Vw (vi) ____________ & (EVXWª Ah_² 

H$m{bXmg: aKyUm_² AÝd`§ dú`o) 

_ÄOyfm 

 

AWdm (OR) 

àXÎmo-^mdmW©Ì`mV² ewÕ§ ^mdmWª {MËdm {bIV & 

 {XE JE VrZ ^mdmWm] _| go ewÕ ^mdmW© H$m M`Z H$aHo$ {b{IE & 

 Pick out and write the correct one out of the three explanations given for 

each.  1 3=3 

(A) earao@[a… àha{V öX ò ñdOZñVWm & 

(i) earao `… OZ… àha{V Vñ` öX §̀ ZmpñV & 

(ii) eÌwOZ… earamon[a àhma§ H$amo{V ñdOZ… M __©ñWb§ nrS>`{V & 

(iii) A[a… earao öX ò M àhma§ H$amo{V & 

(~) gd©ñ` bmoMZ§ emñÌ§ `ñ` ZmñË`ÝY Ed g… & 

(i) dñVwV… gd©OZñ` gwZoÌ§ emñÌkmZ_od, VX^mdo Vw g AÝY Ed & 

(ii) AÝYñ` bmoMZo Z ^dV… & 

(iii) `ñ` bmoMZo ^dV… g Ed emñÌk…, AÝY… Z¡d & 

(g) ‘eãXmZm_Ýdm»`mZ§ ì`mH$aU_² &’  

(i) dmŠ`mZm§ g§emoYZ§ ì`mH$aU_² & 

(ii) eãXmZm§ nXmZm§ M gå`H$² {díbofU§ ì`mH$aU_² & 

(iii) eãXmZm§ {Z_m©U_² ì`mH$aU_² & 

 gr{_VH$WZ_², H$m_mon^moJm`, XmZm`, H$s{V©dY©Zm`, Xman[aJ«hU_², gÝVmZm` & 
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13. AYmo{b{IVñ` íbmoH$Û`ñ` àXÎmmÝd`o C{MVnX¡: [aŠVñWmZny{Vª Hw$éV & 

 {ZåZ{b{IV Xmo íbmoH$m| Ho$ {XE JE AÝd`m| _| C{MV nXm| go [aº$ ñWmZm| H$s ny{V© H$s{OE & 

 The prose-order-renderings of the following two verses have been given 

below. Fill in the blanks. 
2

1
6=3  

nÚ_² 
(A) BX_Ú _`m bãY{__§ àmßñ ò _ZmoaW_² & 

 BX_ñVrX_{n _o ^{dî`{V nwZY©Z_² && 

AÝd`… 

_`m AÚ BX_² (i) ___________ B__² _ZmoaW_² (ii) ____________, BX_²  
ApñV, BX_² (iii) ___________ nwZ… A{n _o ^{dî`{V & 

nÚ_² 

(~) nÄMmeËnÄMdfm©{U gá_mg{XZÌ`_² & 

 ^moOamOoZ ^moº$ì`… gJm¡S>mo X{jUmnW… && 

AÝd`… 

^moOamOoZ (i) _____________ X{jUmnW… nÄMmeV² nÄM (ii) _____________ 

gá_mg{XZÌ`_² (iii) ___________ & 

14. ‘H$’ ñVå^ñ` dmŠ`m§eñ` ‘I’ ñVå^ñ` dmŠ`m§eoZ gh _obZ§ Hw$éV & 

 ‘H$’ ñVå^ Ho$ dmŠ`m§e H$m ‘I’ ñVå^ Ho$ dmŠ`m§e Ho$ gmW {_bmZ H$s{OE & 

 Match the sentences of Column ‘H$’ with the sentences of Column ‘I’. 
2

1
4=2 

  ‘H$’ ñVå^…          ‘I’ ñVå^… 

(A) kmZo _m¡Z§ (i) _XpÝVHo$ 

(~) AOrU} ^ofO§ dm[a (ii) OZZr ñdV§Ìm 

(g) AÚm{n `Þ {d{hVm (iii) j_m eº$m¡ 

(X) EH$Xm g_wnñWmñ`{V (iv)  OrU} dm[a ~bàX_² 
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15. AYmo{b{IVdmŠ`ofw aoIm{‘>VnXmZm§ àg“mZwgma§ ewÕ_² CÎma§ {MËdm {bIV & 
                                                        (Ho$db§ àíZMVwîQ>`_²) 

{ZåZ{b{IV dmŠ`m| _| aoIm§{H$V nXm| Ho$ àg§JmZwgma ewÕ AW© MwZH$a {b{IE & 
                                                           (Ho$db Mma àíZ) 

Select and write the appropriate meanings of the underlined words in the 

following sentences according to the context. (Only four questions) 
2

1
4=2 

(A) Abyjm Y_©H$m_m… ñ`w… & 

(i) H$R>moam… 

(ii) H$mo_bñd^mdm… 

(iii) VrúUm… 

(~) {XîQ>çm dY}Wm§ `wdm_² & 

(i) Ñ{ï>_mÌoU 

(ii) gm¡^m½`oZ 

(iii) ^ŠË`m 

(g) àOmZm_od ^yË`Wª g àOmä`mo ~{b_² AJ«hrV² & 

(i) H$a_² 

(ii) AÞ_² 

(iii) XmZ_² 

(X) Z eŠZmo{_ amof§ Yma{`Vw_² & 

(i) ào_ 

(ii) H«$moY§ 

(iii) _moh§ 

(`) àmMr `Xm hg{V ho {à` ! _ÝX_ÝX_² & 

(i) gIr 

(ii) Xodr 

(iii) nyd©{Xem 
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IÊS…> K (SECTION D) 
^mJ II 

(PART II) 
gm_mÝ`… g§ñH¥$Vgm{hË`n[aM`… 
gm_mÝ` g§ñH¥$V gm{hË` n[aM` 

 General Introduction to Sanskrit Literature 10 A‘>m… 

16. AYmo{b{IVofw H$ñ`m{n EH$ñ` H$do… n[aM §̀ g§ñH¥$VoZ {bIV & 
 {ZåZ{b{IV _| go {H$gr EH$ H${d H$m n[aM` g§ñH¥$V _| {b{IE & 

 Write a brief note on any one poet of the following in Sanskrit. 13=3 

(H$) ^mg…  (I) n§. Apå~H$mXÎm ì`mg… (J) doXHw$_mar KB© 

                                                 AWdm (OR) 

 _ÄOyfmàXÎmnXmZm§ gmhmæ`oZ AYmo{b{IVdmŠ`ofw [aŠVñWmZny{Vª Hw$éV & 

 _ÄOyfm _| {XE JE nXm| H$s ghm`Vm go {ZåZ{b{IV dmŠ`m| _| [aº$ ñWmZm| H$s ny{V© H$s{OE & 
 Fill in the blanks in the following sentences, using the words from the 

box. 
2

1
6=3 

(i) AídKmof… _________ _hmH$mì`§ A{bIV² & 
(ii) {dXÿfH$… _________ ZmQ>Ho$ ZmpñV & 
(iii) ~wYm… AmMm`©MmUŠ`_od _________ H$W`pÝV & 
(iv) ^V©¥h[a… _________ boIH$… ApñV & 
(v) hmñ`ag… _________ _w»`… ag… ^d{V & 

(vi) JÚgm{hË`o ‘hf©M[aV_²’ _________ H$Ï`Vo & 

_ÄOyfm 

 

17. àH$aU – àhgZ – ZmQ>H${dYmZm§ _w»`{deofVm… {bIV & 
 àH$aU, àhgZ Am¡a ZmQ>H$ H$s _w»` {deofVmE± {b{IE & 

 Write the main characteristics of àH$aU, àhgZ and ZmQ>H$. 13=3 

18. Jr{VH$mì`ñ` Zr{VH$mì`ñ` dm MËdm[a d¡{eîQ>`m{Z {bIV & 

 Jr{VH$mì` AWdm Zr{VH$mì` H$s H$moB© Mma {deofVmE± {b{IE & 
 Write any four characteristics of ‘Jr{VH$mì`’ or ‘Zr{VH$mì`’. 14=4 

eVH$Ì`ñ`, ~wÕM[aV_², _wÐmamjgo, àhgZñ`, H$m¡{Q>ë`_², Am»`m{`H$m & 
& 

 


